
■適用製品
ハッコーFG-465、FG-460、441B、441

■組立ておよび使用方法

■オプション

支持パイプ

セットねじ

取付けツマミ

テストプレート

通し穴

取付け台

このたびはハッコーの帯電防止靴用テスターのスタンドを
お買い上げいただきまことにありがとうございます。
お使いになる前に必ず本書をお読みください。

お読みになった後は､いつでも見られるようお手元に
大切に保管しておいてください。

支持パイプをベースプレートに最
後まで差し込み、取付け台の方向
を合わせます。付属の六角レンチ
でセットねじを締め (２ヶ所) 支
持パイプを固定します。

■セット内容
● ベースプレート
1コ

● なべねじ
(M5 × 8) 3コ

● 六角レンチ 
(対辺2.5) 1コ

● セットねじ
六角穴付き止めねじ
(M5 × ８) 2コ

● 支持パイプ
1本

ACアダプター

接続コード

テスター

接続コード

E
ng
lis
h

中
  文

日
本
文

※オプションでFG-465とリスト
ストラップ用テスターFG-470
を連結して測定できる取付け
台があります。

 (「■オプション」参照)

③ベースプレートの上にテストプレートを
置きます。
接続コードをベースプレートの通し穴に通します。
スタンドを倒し接続コードを支持パイプの中に通し
　の穴から出します。

④テスターの取付けツマミで取付け台に本
体を固定します。
テストプレートからの接続
コード、ACアダプター
のプラグをテスター
左側面のジャックに
差し込みます。

①テスターに付属している取付け台を支持
パイプに取り付けます。
なべねじで３ヶ所、
固定します。

②支持パイプをベースプレートに取り付け
ます。

取扱説明書

STAND
C5032

A

A

品番

B5263

B5264

ユニット連動用取付け台

中継コード

中継コード付き

FG-465とFG-470の連動用

附中繼線

用於將 FG-465 與 FG-470 互鎖

with connecting cable

for interlocking FG-465 and FG-470

部品名 仕様

編號

B5263

B5264

單元整合台

中繼線

名稱 規格

Part No.

図番

圖號

Item No.

B5263

B5264

a

b

a

b

a

b

Unit integration base

Connecting cable

Part Name Specifications

 ※ 各言語（日本語、英語、中国語、フランス語、ドイツ語、韓国語）の取扱説明書は以下のURL、
HAKKO Document Portalからダウンロードしてご覧いただけます。

（商品によっては設定の無い言語がありますが、ご了承ください。）
 * 各國語言（日語、英語、中文、法語、德語、韓語）的使用説明書可以通過以下网站的HAKKO 

Document Portal 下載參閲。
（有一部分的產品沒有設定外語對應、請見諒）

 * Instruction manual in the language of Japanese, English, Chinese, French, German, and Korean 
can be downloaded from the HAKKO Document Portal.
(Please note that some languages may not be available depending on the product.)

https://doc.hakko.com

https://www.hakko.com

© 2016-2020 HAKKO Corporation. All Rights Reserved.

OVERSEAS AFFILIATES
U.S.A.: AMERICAN HAKKO PRODUCTS, INC.
TEL: (661) 294-0090 FAX: (661) 294-0096
Toll Free (800) 88-HAKKO   
                               4  2  5  5  6
https: //www.HakkoUSA.com  E-mail: Support@HakkoUSA.com 

SINGAPORE: HAKKO PRODUCTS PTE., LTD.
TEL: 6748-2277 FAX: 6744-0033
https: //www.hakko.com.sg     E-mail: sales@hakko.com.sg

HONG KONG: HAKKO DEVELOPMENT CO., LTD.
TEL: 2811-5588 FAX: 2590-0217
https: //www.hakko.com.cn     E-mail: info@hakko.com.hk

Please access the web address below for other distributors.

https://www.hakko.com

HEAD OFFICE
4-5, Shiokusa 2-chome, Naniwa-ku, Osaka 556-0024 JAPAN
TEL: +81-6-6561-3225 FAX: +81-6-6561-8466
https: //www.hakko.com  E-mail: sales@hakko.com  

〒���-���� 大阪市浪速区塩草�丁目�番�号
 ＴＥＬ：（��）����-����（代）ＦＡＸ：（��）����-����

注意
使用中に外れないよう取付けは確実に行ってください。

a
b

● オプション

● 另購配件

● Optional Parts

取付け例
安裝範例
Mounting example

中継コード
中繼線
Connecting cable

ハッコーFG-470
HAKKO FG-470

ハッコーFG-465
HAKKO FG-465

2020.8
MA02778XZ200825

取説 C5023_和英中_200825.indd   1 2020/08/25   13:36



③Place the test plate on top of the 
base plate.
Pass the connection cable through the hole in the 
base plate. Tilt the stand and pass the connection 
cable through the support pipe so that it comes out 
of hole     . 

④Fasten the tester on the Installation 
base using the knobs. 
Plug the connection cord from 
the test plate and the AC 
adapter plug into the 
respective jacks on the 
left side of the tester.

安裝螺絲

安裝旋鈕

測試板

安裝孔

將支撐管完全插入底板上，調整

方向和安裝台一致。使用附屬的

六角扳手擰緊安裝螺絲 (2處) 固

定支撐管。

AC適配器

連接線

連接線

③將測試板放置到底板上。

將連接線的穿過底板的安裝孔。放倒支架將連接線穿

過支撐管並從    孔穿出。

④使用測試儀主機的安裝旋鈕將
主機固定在安裝台上。

將來自測試板的連接線和AC適配器插頭插入測試儀
左側面的接線腳。

①將測試儀的安裝台 安裝到支撐管上。

用盤頭螺絲固定3處。

②將支撐管安裝到底板上。

Set screws 

Knob

Test plate

Hole

Installation 
base

Insert the support pipe fully into 
the base plate and align the 
Installation base with the base 
plate. Use the included 
hexagon wrench to tighten the 
set screws (2 places) to fasten 
the support pipe.

AC adapter

Connection cord

Connection cord

①Attach the tester Installation base to 
the support pipe. 
Use pan head screws 
and fasten in 3 places. 

②Attach the support pipe to the base 
plate.

Instruction Manual

STAND
C5032

A

A

■Applicable products
HAKKO FG-465, FG-460, 441B, 441

■ Assembly and how to use

Thank you for purchasing the Stand for 
HAKKO Footwear Tester. 

Please read this manual before operating the tester.
Keep this manual readily accesible for reference.

■ PACKING LIST
● Base plate 

(qty 1)
● Pan head screws 

(M5 × 8) (qty 3)

● Hexagon wrench 
(2.5 across flats) 
(qty 1)

● Set screws (hexagon  
socket set screws) 
(M5 × 8) (qty 2)

● Support pipe 
(qty 1)

■适用广品
HAKKO FG-465、FG-460、441B、441

■組裝及使用方法

此次承蒙惠購HAKKO靜電鞋測試儀用支架，

僅申誠摯謝忱。

使用前請務必閱讀本書。

請在閱讀之後置於手邊小心保管，以便隨時查看。

■包裝清單

● 底板
數量1

● 盤頭螺絲
(M5 × 8) 數量3

● 六角扳手
(對邊2.5) 數量1

● 安裝螺絲
內六角固定螺絲
(M5 × 8) 數量2

●支撐管
1本

使用說明書

STAND
C5032

Be sure to assemble all parts firmly so that they do not shift during use.
注意

請務必切實安裝好以防使用時發生偏移。

CAUTION

Tester測試儀

支撐管

安裝台

Support pipe

A A

*提供選配的安裝台，使 FG-465 

與 FG-470 靜電手帶測試儀能

夠連接以進行測定

（請參閱「■選配」）。

*An optional installation base is 
available to enable connect 
FG-465 and FG-470 wrist strap 
tester to perform measurements 
(refer to "■ Options").

取説 C5023_和英中_200825.indd   2 2020/08/25   13:36


